
ASSEMBLY INSTRUCTIONS 

HAVING TROUBLE?

TOLL-FREE:

1-888-670-6684
IMPORTANT: Please read this manual carefully 
before beginning assembly of this product.  
Keep this manual for future reference. 

SYDNEY DOUBLE EGG CHAIR

PRODUCT NO. 088-2291-6



We believe in the power of décor and its 

ability to make up the fabric of your home.

That’s why CANVAS® collections draw 

inspiration from Canadians and the way  

they live. 

From on-trend furniture pieces to holiday 

décor and all your outdoor living essentials, 

CANVAS® makes it easy to refresh your space 

to reflect your unique style and the way you 

live every day.

We would love to hear from you and welcome 

your thoughtful feedback. Visit our website 

at canadiantire.ca to tell us about your 

experience, and share your photos with us 

using #mycanvasstyle. 

 

Show us how you bring CANVAS® products  

to life. We can’t wait to see!



Parts List 4

Step-by-step Guide 7

Warranty 11

TABLE OF CONTENTS

TOOLS REQUIRED

•  Maximum Weight: 250 lb (113 kg) per seat
•  Please read and understand this entire manual before attempting to assemble, 

operate, or install the product.
•  Any assembly or maintenance of the product must be carried out by adults only.
•  Some parts may contain sharp edges. Wear protective gloves if necessary.
•  To prevent damage, place all parts on a level surface during assembly. Add a layer 

of protective surface if needed.
•  Due to the nature of steel, surface oxidation (rusting) will occur if this protective 

coating is scratched. This is a natural process. To minimize this condition, it is 
recommended that care be taken when assembling and handling the product in 
order to prevent the paint from being scratched.

• For easy assembly, do not completely tighten bolts into the frame until all bolts  
 have been inserted for that phase of assembly. Only at the final step of assembly,  
 securely tighten all bolts and hardware.

WARNING! TO REDUCE THE RISK OF SERIOUS INJURY, 
READ THE FOLLOWING SAFETY INSTRUCTIONS BEFORE 
ASSEMBLING AND USING THE PRODUCT.

2 people



SYDNEY DOUBLE EGG CHAIR4

PARTS LIST

ITEM DESCRIPTION  THUMBNAIL          QUANTITY 

1 Back Frame                1

3 Base                1

4 Cushion                1

2 Seat Frame                1



SYDNEY DOUBLE EGG CHAIR 5

EXPLODED PARTS

1

2

3

4



SYDNEY DOUBLE EGG CHAIR6

HARDWARE LIST

ITEM DESCRIPTION  THUMBNAIL          QUANTITY 

B                 4

F Hex Key                1

D Washer                4

C                 4

G Wrench                1

H M6 Screw Cover                4

A                 2

E Nut                4

M6x15 Combination 
Bolt and Washer

M6x20 Combination 
Bolt and Washer 

M6x40 Combination 
Bolt and Washer



SYDNEY DOUBLE EGG CHAIR 7

STEP-BY-STEP GUIDE

3

B

X1

X4

2

A

F

X1

X2

X1

STEP 1

 
Place the seat frame 2 upside down on a soft, flat surface. 
Attach the base 3 to the seat frame 2 by lining up the bolt 
holes on the seat frame 2 with the corresponding bolt 
holes on the base 3. Using M6x15 combination bolt and 
washer A and M6x20 combination bolt and washer B as 
shown, lightly tighten all bolts using the hex key F. Do not 
completely tighten until all assembly is completed.

NOTE: Do not 
completely tighten.

2

3

A
B



SYDNEY DOUBLE EGG CHAIR8

1STEP 2

 
Turn the egg chair to the upright position and insert the 
back frame 1 into the seat frame 2.

X1

1

2

2 X1



SYDNEY DOUBLE EGG CHAIR 9

STEP 3

 
Lining up the bolt holes on the back frame 1 with the 
corresponding bolt holes on the seat frame 2. Using 
M6x40 combination bolt and washer C, washer D and nut 
E, lightly tighten all bolts using the hex key F and wrench 
G. Tighten all bolts, then add M6 screw cover H as shown 
below.

F

D

X1

X4

E

C

G H

X4

X4

X1 X4

C
1

2
D
E

H

NOTE: Do not 
completely tighten.

1 X1 2 X1



SYDNEY DOUBLE EGG CHAIR10

STEP 4

 
Ensure all bolts are securely tightened using the hex key F 
and wrench G. Place cushion 4 on the chair as shown.

G X1

F4 X1X1

4



WARRANTY INFORMATION

This CANVAS™ product carries a one (1) year warranty against defects in workmanship and 
materials. Trileaf Distribution agrees to replace the defective product free of charge within the 
stated warranty period, when returned by the original purchaser with proof of purchase. This 
product is not guaranteed against wear or breakage due to misuse and/or abuse.

Made in China

Imported by Trileaf Distribution Trifeuil Toronto, Canada M4S 2B8

PRODUCT NO. 088-2291-6



FAUTEUIL DOUBLE 
OVOÏDE SYDNEY

NO D’ARTICLE : 088-2291-6

INSTRUCTIONS D’ASSEMBLAGE

DES DIFFICULTÉS?

NUMÉRO SANS FRAIS :

1 888 670-6684
IMPORTANT : Veuillez lire attentivement le présent 
guide avant de commencer l’assemblage de cet 
article. Conservez ce guide à titre de référence.

 



Nous croyons au pouvoir de la décoration et 
à sa capacité de façonner votre maison. 

C’est pourquoi nous nous inspirons des gens 
du pays et de leur mode de vie pour 
concevoir la collection de CANVASMD. 

Qu’il soit question de meubles tendance, de 
décorations des Fêtes ou d’articles essentiels 
de Vie au jardin, CANVASMD vous permet de 
rafraîchir facilement votre espace afin qu’il 
reflète votre style unique et votre façon de 
vivre au quotidien. 

Nous serions ravis de connaître votre 
opinion et nous vous invitons à nous faire 
part de vos commentaires. Visitez notre site 
Web à l’adresse canadiantire.ca pour nous 
faire part de votre expérience et partagez 
vos photos en utilisant le mot-clic 
#mycanvasstyle. 

Montrez-nous comment vous donnez vie aux 
articles CANVASMD. Nous avons hâte de voir!



 4

 7

 11

 
 

 
 

Liste des pièces

Directives détaillées

Garantie

TABLE DES MATIÈRES

OUTILS REQUIS

• Poids maximal : 250 lb (113 kg) par siège
• Veuillez lire attentivement et bien comprendre le présent guide avant 
d’assembler, d’utiliser ou d’installer cet article.
• Tout assemblage ou entretien de l’article doit être effectué uniquement par 
des adultes.
• Certaines pièces peuvent présenter des rebords tranchants. Portez des gants 
de protection, le cas échéant.
Placez toutes les pièces sur une surface de niveau pour prévenir les dommages 
durant l’assemblage. Ajoutez une couche protectrice au besoin.
• Cependant, en raison de la nature de l’acier, une oxydation de surface se 
produira si cette couche protectrice est rayée. Il s’agit d’un processus naturel. 
Pour minimiser cet effet, il est recommandé de faire attention au moment 
d’assembler et de manipuler l’article afin d’éviter d’égratigner la peinture.
• Pour un assemblage facile, ne serrez pas complètement les boulons dans le 
cadre avant d’avoir inséré tous les boulons pour cette phase de l’assemblage. 
Serrez solidement tous les boulons et la quincaillerie seulement à la dernière 
étape de l’assemblage.

AVERTISSEMENT! POUR RÉDUIRE LE RISQUE DE BLESSURES 
GRAVES, LISEZ LES CONSIGNES DE SÉCURITÉ SUIVANTES 
AVANT D’ASSEMBLER ET D’UTILISER CET ARTICLE.

2 personnes



FAUTEUIL DOUBLE OVOÏDE SYDNEY4

1 Cadre arrière                1

3 Base                1

4 Coussin                1

2 Cadre de siège                1

LISTE DES PIÈCES

ÉLÉMENT DÉSIGNATION VIGNETTE QUANTITÉ



FAUTEUIL DOUBLE OVOÏDE SYDNEY 5

VUE ÉCLATÉE

1

2

3

4



6

LISTE DU MATÉRIEL

B                 4

F Clé hexagonale                1

D Rondelle                4

C                 4

G Clé hexagonale                1

H Cache-vis M6                 4

A                 2

E Écrou                4

Boulon et rondelle M6x15

Boulon et rondelle M6x20

Boulon et rondelle M6x40

ÉLÉMENT DÉSIGNATION VIGNETTE QUANTITÉ

FAUTEUIL DOUBLE OVOÏDE SYDNEY



7

DIRECTIVES DÉTAILLÉES

3

B

X1

X4

2

A

F

X1

X2

X1

ÉTAPE 1

Placez le cadre du siège 2 à l’envers sur une surface plane 
et douce. Fixez la base 3 au cadre du siège 2 en alignant 
les trous de boulon du cadre du siège 2 avec les trous de 
boulon correspondants de la base 3. À l’aide des boulons 
et des rondelles M6x15 A et des boulons et des rondelles 
M6x20 B comme illustré, serrez légèrement tous les 
boulons à l’aide de la clé hexagonale F. Ne serrez pas 
complètement avant d’avoir terminé l’assemblage.

REMARQUE : Ne serrez 
pas au complet.

2

3

A
B

FAUTEUIL DOUBLE OVOÏDE SYDNEY



8

1ÉTAPE 2

Placez le fauteuil ovoïde à l’endroit et insérez le cadre 
arrière 1 dans le cadre du siège 2.

X1

1

2

2 X1

FAUTEUIL DOUBLE OVOÏDE SYDNEY



9

ÉTAPE 3

Alignez les trous de boulon du cadre arrière 1 avec les 
trous de boulon correspondants du cadre de siège 2. À 
l’aide des boulons et des rondelles M6x40 C, des 
rondelles D et des écrous E, serrez légèrement tous les 
boulons à l’aide de la clé hexagonale F et de la clé G. 
Serrez tous les boulons, puis posez les cache-vis M6 H 
comme illustré ci-dessous.

F

D

X1

X4

E

C

G H

X4

X4

X1 X4

C
1

2
D
E

H

REMARQUE : Ne serrez 
pas au complet.

1 X1 2 X1

FAUTEUIL DOUBLE OVOÏDE SYDNEY



10

ÉTAPE 4

Assurez-vous que tous les boulons sont bien serrés à l’aide 
de la clé hexagonale F et de la clé G. Placez le coussin 4 
sur le siège, comme illustré.

G X1

F4 X1X1

4

FAUTEUIL DOUBLE OVOÏDE SYDNEY



RENSEIGNEMENTS SUR LA GARANTIE

Cet article CANVASMC est couvert par une garantie d’un (1) an contre les défauts de matériaux 
et de fabrication. Distribution Trifeuil consent à remplacer l’article défectueux sans frais lorsqu’il 
est retourné, accompagné de la preuve d’achat, par l’acquéreur initial au cours de la période de 
garantie convenue. Cet article n’est pas garanti contre l’usure ou un bris causé par un usage 
abusif ou inapproprié.

Fabriqué en Chine

Importé par Trileaf Distribution Trifeuil Toronto, Canada M4S 2B8

NO D’ARTICLE : 088-2291-6

GARANTIE LIMITÉE DE 1 AN*






